}Z&,ﬂ | ZZ@ 12 ]

Name Period
Spring Semester Multiple Choice Fingl Exam Review — Honors Algebra 3-4
1 . . .
L a. Convert to degrees: £ = 1—5 radians, ’ b. Convert to radians: #=245°, leave answer in terms of 7.
2 4 137
A 1.35° pry B A3 rA SN
2 497 g
B 675° —_—
C 123.75°

|
3
2. If the cotangent of aﬁ:‘; angle is 7 find the value of the cosecant. ‘

£ 5 e Ed
(ot Do S

St “

3. Find the reference angle for §=230°.

Je5?
R A _500 sl .

B_40°

D 130° ;

4. Given the tan&=2.5849, find 4. %. m“é?( Py (21 ‘;‘”5“‘*/‘?)
A 0451° |
B 12017°

21.1496°
D g8.8504°

5. Given tanH:zi and secf <0, find sind.
Ly SHpreo

N

'%( ¥ x‘\
24

25

A




6. Given cosﬁ:% and cot@ <0, find sind .

A M—J5_3

7
NS
A
¢ 35
7

7. A 20 foot ladder rests on the side of a building. If the ladder is 8 feet from the base of the building, find the angle of

elevation that the ladder makes with the ground to the nearest degree.
v N
o M

u }QV o

A 22 (5B = by
5 was(E) =669
7 ) — L

D 68°
& =AM, o

8. From fire tower A, a fire with bearing N78" E is sighted. The same fire is sighted from tower B with bearing N51I'W .
Tower B is 70 miles directly east of tower A. How far, fo the nearest mile, is it from fower A to the fire?
[owrot-S-rat

A ._ m.iles 20 y
7 miles e T
C 70 miles Lin i [V

G 4787

9. Find the exact value of the expression:

A -2
g V2
7
(v T g e
Mot (scer e o
.‘ 5@‘,;;2 e !

1. Find the period in degrees: f(x}=sin (é xJ

A 60° 6 < Ex <P
B 120°
C 540° O !’D’g‘ﬁ

@Qosm



12. Find the period in degrees: f(x)= cos(4x)

il

O <
A 45° O & el B
C 720
D 1440°

13. Write the sine equation for the following: ] }
]|
. (4 : e
@:—351[’; (EJ 7_ t’ﬁik"? o
5
B y=-3sin(2¢ e i .
Y Sm; ) Zj =3 S0 (%“ 3 \ B P—— . P
C y=3sinf — T ' F
4 (2) N e in verdert
D y=3sin(26) - 1
: O <X« MY
14. Write the cosine equation for the following:, o< m}%‘ﬁ o 27
A y=-4cos [E)
3
B y=-4cos(36) E
9 —2Zn/3 —m/3 7e/3 21/3
C y=4 cos(—) 14 1 Zr
P 3 - L{ - —21 ﬁ "
" D Yy =4cos(36). = 1 Saj 35 3 .
T —ai g =t é-:w’?“' £
L 2, 2
15.  Simplify: csc*x— cot x = (f se.t% %"“5@2{ / iﬁi&g%‘( ~eofx } @ s e
PN T 4:?,’»3 {j 1 }} D £ T v
A csc’ x—cot’ x [ L= # wi’aﬁg&ﬁ i
' csc? x +cot” x %}4%{’”
2cot” x -1 o ”i”’;
D 2csc® x+1 b gat &
16.  Simplify: 08X 3200w Gl f ,.
' ) tan®x “fjam?)f Tovadc 3 P ( |- ’?rx)
A -l soox | o (@ B2 LS 2 O
B H RN L
BI .,,'";mrzwm ¢ é’a ?% ; "5@,;%% L7 n
C sinx f T P T s
cosx d LR o E
I - in
17.  Perform the addition and simplify: ~ Soox  29% Taay Cacx ekisig
. implify: -
erform the addition and simpli p— S e ? M
A -l 8 L Coss b e el
; gare T S S ewx  Zan
o807
sin® x —tan® x L
2 - | = Cal® . .ra_,.{;
18. Pefrm the subtraction and simplify: t "“x_stj;: ‘&}E K S (,;k: - ﬂ o PR e
WA Scotx ! Canie Tane
B —tanx ek g RN L
C cotx (st T f;:
D tanx
- ' -p-;’ g@




19.  Find all solutions in the interval [0,27): Zsinx+ \/?T ={

Z Sk\f'l% "ﬂ“‘"ﬁ

- it T
20.  Find all solutions in the interval [0, 27):  tanxsecx =tanx tan e - %"';““ &

"fjﬁm, . g{ " Lo e } g ’/’d“\?%m\

7 ™ ) Loy | =a N
B 0,1 4 o "éq&g{ ¥ —

i f
0,7 - i 5 nx, Secye o ., ‘=
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21, Find all solutions in the interval [0,27):  csc’x—cscx =2

e
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22, Find all solutions in the interval 10,27):  2cos®x+3cosx+1=0
2utiurrme g
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23.  Evaluate: sinl165° (Use the fact that 165° = 135° +30°).
SA(1354Y 5 B ATTETs Lo (2v5ial
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24.  Write the expression as the sine, cosine, or tangent of an angle:  cos125°cos40°—sin125°sin 40°
LRiea oSl Bead ‘@f”ff%”f* uf’“}

m@;;”ikng m:aj
eas (3470

. -5 7 -15 3z )
25. Given Secu:—t—l—’—i <u<xand cotv=—-, ~—~ <y < 27, find sin{u—v).

H Y
v ] Lot ™ g
— jwig . " i
N'mg T
g7 '§~‘ﬂ\ﬂ; *"5;;, e YEZ}
R

26. Given cscuzg,() <u< %and tamr:i, Ty < 3—7{, find cos(u—v).

.t S
204 Slans “é%) €
A =3 73 7
325 -
g 187 lodu B3
325 .
36 Co)(% ,u"’) &)u{ajr %mﬁf‘;z\p««fiﬂf
C -= - e {12 [~
325 “"‘L} "
s},?; 3 kﬁ &y
p B7 . mpEm =&Y L “”}f’ff_x
325 e T 73

27.  Find the area of the triangle to the neatest tenth, with sides of length, 43, 53 and 72

A 1235 Wepor form b 0 g = VEEEC o WL S8 4=

@1131.9 ' - i - fgaggg; e 2
o | SRR
D 15,099.6

a

i
28.  In AABC,BC=6, AC= 10 and m/C = 120°. What is the area of A4BC? T/\gw .
e SN !
A 1S S, A Olr)eainT =
o Rt b AT
5\[3- ) j/‘”‘y:’ Vh”“"a_\ ﬁfj' :;m {,mjg"‘}mv)?m !?‘Vﬁ
D 3043

29,  Given a triangle with sides a = 535, b =25, and ¢ = 72, find mZC. )
' ‘ (aw {3‘”&6 Lol 18l
A 17

B 39 . oy Y '%22“ 7yt ﬂ{@._mﬁ" - ,;,{ z\ﬁ\”ﬁ”}w g O
56 . )
@24 _ Sigr = LTS 2250 0ad L

AT 52 i Is Py m 23T Laid
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30.

31.

32

33.

34

35,

36.

A
D 353.65 -
Solve for x in the given iriangle. [aw o Siret
: . £
A 220in. '“““5““”‘“’;) R
B 439 in. _ sen e
7.85 in.
D 16.39in. '
- S - f@ FYR LA éfié
Find all possible measures for angle B, given; A=58",a=11.4,and b=12.8 .8 fi,
A7 ( 2, \\;f i) bra Se E Freeale Sad T sla”
168° L ! e §
@OﬂlAaﬂdB :fh %, g"#@:"w QQ?KH‘? ] L R
no triangle exists ﬁ_ et o 2% o o ~7 7=
Rewrite the following in trigonometric form of 57 ¢° 5/ [ W &}
ST gy B L
A 3(cos0+isin() Mrwf m?;m ? #

L irak [
C 5(cosz+isinz)

D5 0053—7r+isin3—ﬂ
2 2

Y N R
Use DeMoivre’s theorem to evaluate: {3(cos80°+/sin80°)]' = 3% [5,;,3, {‘i‘{@) Aol 4o [‘9% 59)))

s E ", Y i, iy
: - o | ) T8 Y
A 3(c03320°+isin320°) g (’m (B 1192

B 12(c0s320° +isin320°)
81{cos80°+/5in80°)
% {c0s320° +15in 320°)

Determine which of the following is a cube root of -64 using DeMoivre’s theorem, { /f’
- ¢ -, }fj:? k. ‘:ﬁ} =
X AT . R ]
A —4(cos180°+isin180°) fot (—67)7 = @V (co$ 185 23" 155)
P o . o Il’ 4 fae . . l LY )
(cos 60°+4sin 60°) [é,t,/\) J [éo/("}:a STCYR RS a4 !{@}J TN
°+1st ° & PN
C 4(cos120°+isin120°) \{ffz..4?,,€; bo & £l B0 fel = 73
D 64(cos60° +isin60°) - e

350
Write an explicit formula for the arithmetic sequence: -6, -2, 2, 6, ....
o T q/ﬁ% N

A -4n-2 e 4
B 4n-2 4, = qt+ﬂ{&;ﬂ>
C 4n-7 C{,]:"‘é 4_%(%4)

n~10

- G

o \‘(&} -




37.  Write an explicit formula for the arithmetic sequence with a first term of 15 and a common difference of 4.
T e,

A 4+(n-1)15 a&n},r_;mne{:w(}

B 4-(n—1)15

CY5+(n—1)4

15 - (n— 14
38.  Find the 90" term of the arithmetic sequence with @, =3 and @, =9. (Assume that n begins with 1)

g S
he b

A -531 ; T

B 273 Pu = 5*’%‘4(_- i

C 337 4 7 rie Gn

D 804 d P ™ R ” o

39.  Find the sum of the first 100 terms of the arithmetic sequence whose'nth term is 2, =97 -6
Assume that n begins with 1), ‘ oo y ok
( g ) : 5’ o L"EP (5\% ”‘5‘”""?»”?“} 4{ = ?(’) é _.,._:»‘?

A 894 o ( 571
| » 4 (i)l
B 44,550 - w(ﬂwﬁy) e = P12
C 34,850 S .
49,700 |

7 2 S SR T A
40.  Find the sum: ngzm :? Tz 5 F o o

12
45

< s

- q]{ o, i S, ——S : gﬁ:
oo a-l >y W g P ok 1
41,  Evaluate: Es[%} ﬂr{ C | Canm /w —/0 =7 é 2 ;

n=1 3 ’& =
(AN
A3 = '3“( 5) =<
g 10
3
c i
. 2 e o s
@1 5 02 b b S
by = s L3 3
42.  Find the coefficient of x’»" in the expansion of (3x—2y)° — £ [.?N}e{”’g:ﬁ + L= S ff‘? 2}
e ® 2 32
A 25920 ) 3}{:«5& 5)
BY4320 ' | [ s J

-216 7 B
D 20 — Y720 % Y




43.

44,

45,

46.

47.

438.

o p
3 o % o,
Find the coefficient of x73” in the expansion of (x+43) = fo 3 ({‘Jj}) Q’CQ_G{} ({j )
IR T
A l6 26 % / é’j |
36 |

B LA |
@76 5 %@j -
1152

A card is drawn at random from a standard deck of 52 playing cards. Find the probability that the card is a face card.

1 )L
E o=
c 1
4
p A
13

A password is comprised of 3 letters followed by 4 digits. How many passwords are possible?

gzlé?mo 000 o 2 25 (242 (2 A2
(C 175,760,000 S ) |
D 456,976,000 | "’;mg}ii? 2 0200 |

A phone number has seven digits. How many different telephone numbers are possible if it cannot begin with 0 or 17

A 5040 o
B 604,800 g e — oy o e

C 2,097,152

@,000,000 23" /Q Do DD

A bag contains 9 quarters, 5 dimes, and 3 nickels. If three coins are selected without replacement, what is the probability
of selecting three quarters?

‘.’} ' s .
AL : 1 ¥ =
504 = & 5
504 7
4913 P 237 — g’ff;}’”j‘f;}
21
170
763
510

—_——— e RO S U

A class is given a list of 20 study questions from which 12 will be part of their upcoming final. If a given student knows
how to solve 15 of the problems, find the probability that the student will be able to answer 10 questions correctly.

455 baews (5
184756 Soerde i
B L gt piek V2 guton {1 vdty Soety \3
3230 A
77 o . C
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49.

Sl

52.

A drama teacher must fill extra roles for 7 females and 5 males for the upcoming school production of “Cats”. If 10
females and 8 males tryout and all are equally qualified, in how many ways can the teacher chose the cast?

C
A 35 €.\
B 30 3 2 5

(5372 o st

Match the graph with the correct system of inequalities.
by x+5y<20 "
y<x'-2
3 4x55y>20
y>xt-2
4x+5y > 20
)< x7 -2

B 4x+5y.<20
y}x =2 O J 54\'/“.'} »’/?1 L e

ez =2

Graph the system of inequalities.

gx — 5y>—30
7—/
y<3

5 — 5y< -30 o

}{x S5y<-30
yz3

6x—5y=-30

D x>2-4

y§‘3

\:

A small business invests $16,000 to produce an item that will sell for $5.95. Each unit can be produced for $3.45.
Find the sales necessary to break even.

Y 27y X F (60N
Sgsin SOTKF 25X
B 1702 ‘U‘:/" : : e ‘,’c‘,) Q- &
00

64,000




53.  Solve the following system by the method of Substitution:

A (2,-13)

(ﬁfj ) % [Ty

2{-4
TS L L
2x— y+ 3z=26 i -
. . p 'y,
54, Solve the system of linear equations: 2y ~-z=12 ;’;‘/ -3 2
7x-5y  =—8 1,

L=t 3w g e m WY T
. o oz o~ N9 4 za AT
[0,8) . - ] ) )E e i
¥

By SO 2ig =1l L
C (1660 7
D (21,4,-4) o

e o riﬁ )
3x —2)1 =8 ; = 'S } }j o H
f H
55.  Solve the system of linear equations:  x+2y =0 T B A
/ g
x+ y =06

A (2,-1) {',,,é?wﬁ{\ Z;/
B (6-a,a) ' P =6 A
< (12, —6)

D osolutlon-

2x+4y-«2220 f‘ ) g .W’i; - g- 0?3

. . 3x+35y =1 . N
{ A ~5a+2,3a—i,a) )
B (5a+2,-3a—la)

56.  Solve the system of lincar equations:

. . EE

C (21,4) Ly T8z =1 o
D no solution ?’g\ i a
; :‘éﬂ‘ ﬂgﬂy L2 ‘ i‘s

[ —

2 5,
RA2(Faey-aza
PP O e R
omn eqddfade i W ETaTae
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57 Given:
-34
A J-16
26
43

B | 17
=29
53
-19
46

D 4
-14

9 2
58.  Find the product of matrices: 10
6 2

103
31
10
35
!
-3

12
2

18
36
36

C |-14
-10

76
D |-62
32

E Ll
|

41

35)]
—36 |

-6
4
-18
-4
0
4
-2
0
6
22
~14
12

8 -1
2 3landB=
-4 5

2
42
0

-32

-14
-32
-36

1
-1
1

6

51 Find: 6B-5A
10
7
-7 0
-2 8




59.

60.

15
Given: A=[ 3}, Find A”
1 s
=
LN 34
4 1
151 17
S
gl6 15
o
L8 3]
1 i"
cl46 4
-4 -1
69 23]
-6 —15]
D
8§ 3

Find the determinant of the matrix:

-2163
B 31167
C -453
D -399

10

D WO e




Name Period
Spring Semester Multiple Choice Final Exam Review — Honors Algebra 3-4

1 a. Convert to degrees: & = I—:;E radians. b. Convert to radians: &=245°, leave answer in terms of 7 .
A 135° A 37
36
B 67.5° B 49—71-
72
C 12375 C 49—”
36
D 247.5° ‘ p ¥r
18

.3
2. Ifthe cotangent of an acute angle is 7 find the value of the cosecant.

Al
5
B 4
5
c?
4
D2
3

3. Find the reference angle for #=230°,

A 50°
B 40°
C 50°
D 130°

4, Given the tanf=2.5849, find &.

A .0451°

B 1.2017°
C 21.1496°
D 68.8504°

5. Given tanﬁzz—j and sec# <0, find sind.

24
25
-7
25
7
25
24
25

A

B

I B A I S o SN P s A e N 5 Fedqmeed By Ayiiilente F e e Baoviferne §O0F
Sed A F R by CH e el s e Rk FUIIRAD FU sy A s e L



6. Given cos¢9=% and cot& <0, find sind.

A —“/5
7

B —_3‘/5
7

c M5
7

7. A 20 foot ladder rests on the side of a building. If the ladder is 8 feet from the base of the building, find the angle of
elevation that the ladder makes with the ground to the nearest degree.

A 22°
B 24°
C 66°
D o68°

8. From fire tower A, a fire with bearing N78 E is sighted. The same fire is sighted from tower B with bearing N51"W .
Tower B is 70 miles directly east of tower A, How far, to the nearest mile, is it from tower A to the fire?

A 19 miles
B 57 miles
C 70 miles
D 88 miles

9. Find the exact value of the expression: sin|:tan"l [%}2)}

12
13
-5
13

A
B
c =
D =

10. Find the exact value of the expression: csc{cos'l (-_Tﬁﬂ

A -2

p o1
7

¢ /1
7

D2

11. Find the period in degrees: f{x)= sin(%x}

A 60°
B 120°
C 540°
D 1080°




12. Find the period in degrees: f(x)=cos(4x)

A 45°
B 90°
C 720°
D 1440°

13. Write the sine equation for the following:

g
A p=-3sin| =
¥ sm[zJ

B y=-3sin(26)

é
C y=3sin| —
g [ZJ

D y=3sin(20)

14. Write the cosine equation for the following:

I5.

16.

1%

18.

7
A y=-4cos| —
g (:J

B y= —4005(36’)

a
C y=4cos| —
g (BJ

D y=4cos(36)

Simplify: csc’ x—cot® x

A csc® x—cot’ x
B csc® x+cot’ x

C 2cot’x-1

D 2csc’ x+1

N SecXx —CoSX
Simplify: —

A -1

B 1

C sinx

D cosx

Perform the addition and simplify:

A -1
B 0
C 1

D sin®*x—tan®x

Perform the subtraction and simplify:

A —cotx
B —tanx
C cotx
D tanx

cscx  cotx

sinx tanx

SECZ X

tanx—
tan x

—27n/3

—n/3

2n/3



19.

20.

21

22.

23,

Find all solutions in the interval [0,27):

3 w | H SR
- 2
MEINERESE

ey
‘”|a c“|

Find all solutions in the interval [0,27):

S 0w

Find all solutions in the interval {0,27):

= Sk
|

g
[

{2
]

- o
N .

2|

o

|
—_

Find all solutions in the interval [0,27):

_
-
=

[

=-]

'|>-l N
SEN
=

h
=

w|§ o

Evaluate:

-6
4
-2
4

V6+2
4
1+J§

ZSinx+\/§:0

fan xsecx =tanx

cac’ x—cscx =2

2¢cos? x+3cosx+1=0

sin165° (Use the fact that 165° = 135° +30°).




24.

25,

26.

27.

28.

29.

Write the expression as the sine, cosine, or tangent of an angle:  cos125°cos 40°—-5in125°sin 40°

cos85°
sin85°
cos165°
sinl65°

Lawe

Lh

-5 3w .
e < v <27, find sin(u—v).

Given secu= <u<mand cotv=

2

- |
(R I

36
85
13
83
77
85
91
85

A

B

Given cscu:»l;—’,o <u <Zand tan v::—:z, TLY< 3?7:’ find cos(v—v).

204
325
-187
3
~36
s
437
s

D

Find the area of the iriangle to the nearest tenth, with sides of length, 43, 53, and 72.

A 1235
B 11319
C 3712.6
D 15,099.6

In AABC,BC =6, AC =10 and m2C = 120", What is the area of AABC?

A 15

B 1543

C 30

D 303
Given a triangle with sides a = 55, b= 25, and ¢ = 72, find m£C.

A 17
B 39
C 56
D 124




30.  Given a triangle with A=109°, b=13,and ¢=10, {ind a.

A 18.81
B 2047
C 23.16
D 353.65

31, Solve for x in the given triangle.

A 2.20in.
B 439in.
C 7.85in.
D 16.3%in.

32.  Find all possible measures for angle B, given: A=58%a=114,andb=12.8

A 72°

B 108°

C BothAand B

D no triangle exists

33.  Rewrite the following in trigonometric form of 51,

A 5(cos0+isin0)
B 3 005£+isin£

2 2
C 5(cosz+isinr)

D5 c:os?'—;'r +i5in§£
2 2
34.  Use DeMoivre’s theorem to evaluate: [3{cos80°/sin 80)]*

A 3(cos320° +7sin320°)
B 12(c0s320°+isin320°)
C 81(cos80°+/sin80°)

D 81(cos320°+isin320°)

35. Determine which of the following is a cube root of -64 using DeMoivre’s theorem.

A —4(cos180° +isin180°)
B 4{c0s60°+isin60°)
C 4(cos120°+isin120°)
D 64(cos60°+isin60°)

36.  Write an explicit formula for the arithmetic sequence: -6, -2,2, 6, ....

A -4n-2
B 4n-2
C 4n-7
D 4n-10




Write an explicit formula for the arithmetic sequence with a first term of 15 and a common difference of 4.

A 4+(n-1I5
B 4-(n-DI15
C 15+ (@—1)4
D 15-(n—1)4

Find the 90" term of the arithmetic sequence with @, =3 and @, =9. (Assume that n begins with 1)

A -531
B 273
C 537
D 804

Find the sum of the first 100 terms of the arithmetic sequence whosc nth term is @, =912-6.
{Assume that n begins with 1).

A 894

B 44,550
C 44,850
D 49,700

7
Find the sum: 3 2
n=2 n+3

A2
45
2131
1260
2761
1260
p 172
10

B

. 2 =1
Evaluate: 3 5[—)

A3
10
3
s

2
D 15

B

Find the coefficient of x°y" in the expansion of (3x—2y)’

-25920
-4320
-216
20

=R N--



43,  Find the coefficientof x73’ in the expansion of (x+4y)’

A l6
B 36
C 576
D 1152

44, A card is drawn at random from a standard deck of 52 pIayiﬁg cards. Find the probability that the card is a face card.

C_
4
4
13

D

45, A password is comprised of 3 letters followed by 4 digits. How many passwords are possible?

A 118

B 26,000,000
C 175,760,000
D 456,976,000

46. A phone number has seven digits. How many different telephone numbers are possible if it cannot begin with 0 or 1?

A 5040

B 604,800
C 2,097,152
D 8,000,000

47. A bag contains 9 quarters, 5 dimes, and 3 nickels. If three coins are selected without replacement, what is the probability
of selecting three quarters?

1
S04
504
w13
21
7
p 163
510

48. A class is given a list of 20 study questions from which 12 will be part of their upcoming final. If a given student knows
how to solve 15 of the problems, find the probability that the student will be able to answer 10 questions correctly.

455
184756
7
3230
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49, A drama teacher must fill extra roles for 7 females and 5 males for the upcoming school production of “Cats”. If 10
females and 8 males tryout and all are equally qualified, in how many ways can the teacher chose the cast?

A 35
B 80
C 176
D 6720

50.  Match the graph with the correct system of inequalities.

4x+5y <20
y<xt=-2

8 4x+5y =220
yext-2

51.  Graph the system of inequalities.

6x—5y=-30
A x>2-4
y<3

6x—5y<-30
B x=-4
y=<3

6x—5y<-30
C x<-4
yz3

6x—5y=-30
D x>-4
y=3

52. A small business invests $16,000 to produce an item that will sell for $5.95. Each unit can be produced for $3.45.
Find the sales necessary to break even.

A 640
B 1702
C 6400
D 64,000




Solve the following system by the method of Substitution:

2x— y+ 3z=20

Solve the system of linear equations: 2y —z=12
Tx-5y =-8
A (6,10,8)
B (11,8,4)
C (16,6,0)
D (21,4,4)
Ix-2y =8
Solve the system of linear equations:  x+2y =0
x+ y=6
A (2,-1)
B (6-a,a)
C (i2,-6)
D o solution
. . 2x+4y~-2z=0
Solve the system of linear equations;
3x+5y =l

A (—5a+2,3a—],a)
B (5a+2,-3a-1,a)
C (2,1,4)

D no solution

4x* +y=3
x+y=-11




57 Given:

[-34

A |16
| 26

[ 43

B | 17
| —29

[ 53

C 7
-19

46

D 4
| —14

§ -1 1 6
A=| 2 3|andB=|-1 -5|Find: 6B-5A
-4 5 1 10

9 2 35| 4 -2 7
58.  Find the product of matrices: |1 0 3| -7 1 0
6 2 42 2 8
(12 -6 103
A2 4 31
|18 -18 10
(36 -4 35
B|~-7 0 0
|12 4 -32;
[ 36 -2 42]
cC|-14 0 0
|-10 6 -32]
[ 76 22 -14
D |62 -14 -32
| 32 12 36




60.

. 6 15 ) .
Given: A= , Find A
[-1 -5
A 34 34
4 1
L5117
11
B 6 15
-1 -1
L8 3
s
c 46 46
=4 o
L69 23
(-6 —15
D
L 8 3}

Find the determinant of the matrix;

A 2163
B -1167
C 453
D -399
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Spring Multiple Choice Answer Key

(13 A’s; 15 B’s; 16 C’s; 17 D’s)

21.
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23,
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26,

27.

28.

29,

30.
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36,

37.

38.

39.

40,
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47.

48.

49.

50.
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C
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A
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55,
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